INSTALLATION MANUAL

Full Motion LED, LCD TV Wall Mount

PB3770

0
0

sdoocoooceeeco

0
0

—X—X—X—X——X —X—)
—X—X— XXX —X—)

VESA MosT 9
n n
75x75 100x100 -
200)):100 200;200 37 70

400x400 600x400 RE 40kg/88lbs

CAUTION: DO NOT EXCEED RATED LISTED WEIGHT. SERIOUS INJURY OR PROPERTY DAMAGE MAY OCCUR!



M5x14 (x4) M6x14 (x4) M8x20 (x4) M6x30 (x4)
M-A M-B M-C M-D
(— D O
M8x30 (x4)
M-E M-F(X4) M-G(x8) M-H(x4)
B(x2) T\ . )
Gy
C(x1) STG.?/C-5A5 (x4) concretev\zla-nBchor (x4) D6 w?/\sll:\ér (x4)
N

55mit
C[[.2)] ]
€ Y SaS—

il
V




